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35MHz-CW i 1% mERE
35MHz-SSB 1 1%
7MHz+CW 7 4%
TMHz-SSB 4 2%
18MHz-SSB 1 1%
21MHz* CW 1 1%
21MHz-SSB 5 3%
24MHz-SSB 2 1%
28MHz-SSB 4 2 BmES(t2R
28MHz* AM 2 1%
20MHz*FM 4 2%
50MHz* CW 9 5% m17<
50MHz - SSB 135 7%
50MHz+AM 35 2%
51MHz*FM 4 2% 277
144MHz* CW 8 4%
ST 145MHz/430MHz CW |1 1% 37Y
144MHz - SSB 185 10%
144MHz-AM 25 1% W47
144MHz*FM ) 5% ;
144MHz DV 25 1% mE :
144MHz - PHONE ) 1% REHL
430MHz-CW 15 4%
ST 430MHz/145MHz CW | 1% 1%
430MHz-SSB 176 9%
430MHz-AM 1B 6%
430MHz-FM 295 16%
430MHz =DV 155 8%
430MHz - PHONE B 1%
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430MHz - PHONE
430MHz - DV
430MHz = FM
430MHz - AM
430MHz - SSB

ST 430MHz/145MHz CW
430MHz - CW
144MHz - PHONE
144MHz - DV
144MHz = FM
144MHz = AM
144MHz - SSB

ST 145MHz/430MHz CW
144MHz = CW
51MHz = FM
50MHz = AM
50MHz - SSB
50MHz - CW
29MHz - FM
28MHz = AM
28MHz - SSB
24MHz - SSB
21MHz - SSB
21MHz - CW
18MHz - SSB
7MHz - SSB
7MHz = CW
35MHz - SSB
35MHz - CW
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